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Gf D_is to the south of V and Z is to the east of V,in what direction is D with respect to Z?

(a) North-east e

(b) North-west _&_

(c) South-east S O‘AM “Jeg
LeSouth-west

(e) None of these —
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G is 40 m South-west of K. L is 40 m South-east of K. Then, L is in which direction of G ?
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da‘)’rast |
(b) West A
(c) North-east —
(d) South
(e) None of these
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W went 15 kms to the west from his house, then turned left and walked 20 kms. He then
turned East and walked 25 kms and Lga/H\LturuJeft covered 20 kms. How far was he from
his house ?
(a) 5 kms
_o"T0 kms
(c) 40 kms
(d) 80 kms
(e) None of these
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@om his house, J went 15 kms to the North. Then he turned West and covered 10 kms. (en
he turned South and covered 5 kms. Finally, turning to “East, he covered 10 kms. In which
“direction is from his house?

(a) East Q Q]

(b) West } No foKw

_Le}North @ ")
(d) South 5
(e) None of these |0

—————




K 3aT & 3T 10 fFatefier =orar g1 981 @ a8 6 Fraldier afaror i A =erar g
fhY, ag qd #1 3R 3 fFasex o 1 a8 U IRIEAF g & wesh & fhael ¥
3R e fewm ¥ 2

@walks 10 kilometres towards Nort From there, he walks 6 kilometres towards South. Then,
he walks 3 kilometres towards East.(H ovsLtar and in which direction is he with reference to his
starting point?
(a) 5 KM West

Jb.)—s KM North-east @
(c) 7 KM East
(d) 7 KM West
(e) None of These
(B
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@/I walked 40 metres towards North, took a left turn and walked 20 metres. He again took a left
turn and walked 40 metres. How far and in which direction is he from the starting point?

(& 20 metres East i
20 metres North

gx\ZO metres South
100 metres South

—
mne of these -
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Cman leaves for his office from his house. He walks towards East. After moving a distance of
20 m, he turns South and walks 10 m. then he walks 35 m towards the West and further 5 m
towafds the North. He then turns towards East and Walks 15 m. What is the distance between
his initial and finaI positions? T
(a) 0~
(c) 10
(d) Cannot be determined
(e) None of these
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@ is to the East of D_'/"‘?m‘:h is to the North of Z. GLP is to the South of Z, then P is in which
direction with respect to M? — —_—

(a) North)Q

(b) South <

(c) South-East N O w0
(d) North-East><

Me of these
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@IS 8m East of Z who is 6m North of B. E is 4m South of F who is 8m North of K] Z is 11m West

o —

f H who is 4m South fLr T — E—
o"‘(w o is 4m South o
(Dyis in which direction with respect to E? +

(a) West {4

_IbEast
(c) North-east @ H
(d) North-west — S K-@\-}

(e) None of these —
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Cdrlves 10 km to the north, turns left and drives 4 km, and then turned right and cover
another 5 km, and then again turned right and travels another 4 km.
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How far is she from her starting point
(a) 10 km -
(b) 12 km
5 km
(d) 5 km
(e) 20 km
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@int Z is 3 metres North of point S. Point C is 3 metres West of point Z. Point D is 5 metres

—_— — e—

South of point C. @oint E is 7 metres East of point D. In which of the following directions is

— — —— —

point E, with reference to point Z?

—F
a) East 3 L
%’outh-East C -5\)

c) North-Eas
d) South 3
e) None of these
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@lnt Z is in 15m north of Point Y. @omt F is in 20m north of Poin C) Point L is in 35m east of

Point QCBmLP isin 25m south of Point LjPomt Zisin ZO_m egs;t of Point P.
_ n

What is the direction of point F with respect to point P?

%ﬂﬂorth-west '}

(b) North-east <o —
(c) South-west

(d) South-east ~
(e) North 15
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@oint_M is 3m north of point C. Point J is 9m east of point C. Point F is 9m south of point J.
Point C is 5m north of point E. Point E is 4m west of point D. Point F is 4m east of point K.
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Point ©)is in which direction with respect to point K?

AaNorth-west
(b) South-east
(c) North-east

(d) South QS
(e) North 3
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Cglnt A is 10m West of point C. Point C is 20m South of point E. Point E is 30m_ West of point B.
Point L is 40m South of point B. Point F is 5m So South of point K. Pomt H is 10m West of point K.

Point F is 30m West of point L. o (=3 B

e —3 a
Point H is in which direction from point A? {9 2
(a) West 9
(b) South wes
_AeiSouth © —
|
(d) North east 2

(e) South east 19 %
S
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